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51. T8 ¥ f&0 ‘aRdig dfeade’ w1
Wl 82 RRC ‘YW S’ ATE 08.12.2013
(1) AR
(2) T facig
(3) a?ri%m % AT

(4) AT

Answer — 4




52. 99 F Ufygdl S| =W, g Ry
a9 9919 & feeqi ¥ 1830%. N
AT F T RRB ‘T4 ¥1" 2018
(1) TANTIRT gl
(2) 1T g<I9%d

(3) HETAATS] FaeT
(4) 3AATS! TR

Answer — 2

53. ‘Y31 it 3R cle S¢ A fohEH
f&ar 91?  RRC Yy I* A-TE 08.12.2013
(1) fagaE—=< (2) TIF= A

(3) XMW RAEH
(4) TSI IPTAIE N

Answer — 1




54, ‘3THa TKIH & T@H I M
¥ 2?  RRC'YY €' Y 08.12.2013
(1) gl BT (2) Heooll TTH
(3) oIS TH  (4) Tig IR

Answer — 1

55. 1659 3. W, fyrarsh 7 forg fFa o

AFS @H H Hid F TR 3aR g4
RRC ‘YU SI’ Y 08.12.2013

(1) TS (2) FAT9TS
(3) faumerTe (4) NS

Answer — 4




56. Tt TRAHE % INH, iz afufem

(1784 3.) o W&afaa foan am ar?
RRC ‘YU SI' Y=g 08.12.2013

(1) dfe dHdIferd  (2) dfs detorel!
(3) axA gRE™ (4) dfs fAvel

Answer — 2

57. TS fYrarsit & YREE W Sy

TATER &1 SWEIIe fohTah 919 9172
RRC ‘YU €' 4% 08.12.2013

(1) ~araree (2) ufoeq 1d
(3) grAfad (4) I

Answer — 1




58. WM faeaa & wfa wfea-wa <A
& fau 397 1 W FE 9
g1 &R, frafafea o 9 feg
M & @A 9t 47
RRC ‘Y4 SI’ Y3 08.12.2013

(1) g0 & AP g (2) YRR
(3)31131??[ (4) Yooy

Answer — 4

99. YRGH U=T *ilg # T w9

g% ? RRC ‘g9 S}’ 43 08.12.2013
(1) 1865 . (2) 1905 %.
(3) 1875 %. (4) 1885 3.

Answer — 2




60. ‘g% ®’ ufaEr Fit yeeTd forad
hi? RRC ‘JU S1’ W3 08.12.2013
(1) TH ST TS
(2) TYT 0TI SR
(3) Si. §1 3R FFASHY
(4) HETST TR

Answer — 1

61. oo woas & Sk 7w wa
HHUT T 3R o1?
RRC ‘YU SI’ Y3 08.12.2013
(1) B¥aEs (2) T ||
(3) &HUTA (4) IIPHEN

Answer — 1




62. fr=fafaa # 9 fofm =M w fay
oIS W F TR W g B2

RRC ‘J4 SI’ 08.12.2013
(1) g4 (2) PrefaTm
(3) VLrTe (4) P9

Answer — 4

63. TeRT & G+ MO hl
YT fohE &hi?
RRC ‘Y9 ¥1" % 08.12.2013
(1) St & g (2) Sil Sl RGN
(3) &t it fae® (4) T9 SN TS

Answer — 2




64. fr=fafaa o 9 feas 19 @i o
HT T eI 2?2
RRC ‘YU 31’ 9% 08.12.2013
(1) Me-Fag wen  (2) 98 |y
(3) 3N e (4) Y I

Answer — 3

65. fr=fafaa ¥ 9 =9 wrd et

I & TH A & AT 47
RRC ‘Y9 S’ Jg 08.12.2013

(1) SETHE AR (2) MUEHST Mo
3) faftma=s T (4) AT 98IGY 97

Answer — 1




66. FHR T-Shal W HH WA A?
RRC ‘YU S\’ WS 08.12.2013
(1) & | (2) xrsrTE AR
(3) GER™ 914 (4) wa

Answer — 1

67. Taeq T %1 fm fFEA
FLEAE?  RRC ‘U I’ TH=g 08.12.2013

(1) I (2) S} R
(3) IARTE (4) TTESial
Answer — 1

68. W9 ST AW el g «i?
RRC ‘JU SI' Y3 08.12.2013

(1) ATI=<1 (2) a&fren
(3) GcAdl (4) grcforga

Answer — 1




69. ... 1 1793 3. ¥ 9RAIY fafaer Qar
AT RRB ‘Y9 S1’ 2018
(1) v‘iaéma (2) 7S BHaIferd
(3) wie gifeT (4) ¥R S 9N

Answer — 1

70. 3T & I g3 Ul
RRC ‘U 8 'ggas‘tmos 12.2013
1) %< (2) WA N
utg‘éa Qq (4) AT |

Answer — 1

71. =9 8 Q -9 EF FT T

™ a9 9 917

RRC ‘YU SI’ PIcIHIdl 08.12.2013
(1) Sogdfae (2) g,
(3) 3THaN (4) JTEFGATE 7T

Answer — 4




72. A 8 7 33-7 w8F 5= 3 =0
T2 A § 720 F 70 37a 7Eg
ZA AI/RRC ‘YT 21’ BIAFTEI 08.12.2013
(1) Fq9ga Ua5
(2) feersenE 9es

(3) ‘TF’WEW
(4) I92TFd 9 H Bz T2

Answer — 2

73. 79§ | 9 ama § i srem
&1 G 91?
RRC ‘Y4 SI' HIADII 08.12.2013

(3) faddr= (4) I

Answer — 4




74. {72 § 9§ g i 9 A @A *
qSEteh BN St SAfFTa Sufeafa
39 feamm & fau 7o 3R iq
(Shid) <hT HITHH 79T 917

RRC ‘YU SI’ HIIIc 08.12.2013
(1) IiHIad A (2) AvSIe™ A
(3) SFea A (4) Taa HEWY A

Answer — 3

75. f&a gt faa@l & wwa & g3 A
srar 3k U ST 1 TS fRar?
RRC ‘Y9 SI’ PPN 08.12.2013
(1) T8 91 s
(2) 75 Mfa< g
(3) BRI YIS f&G98
(4) T ATEEIGR

Answer — 3




76. & ArHd (Peacock Throne) X GEC

aTel SAfH T TES HiA a7
RRC ‘J4 $1’ BTl 08.12.2013

(1) dBIGRATE TR (2) AR
(3) HIZHG 9B (4) wmg3Te™ fg<a

Answer — 3

77. f/= % Q {59 T &1 T FEst 9 92
B3T 82 RRC ‘YU S’ BIIHIE 08.12.2013
(1) XTHIA=< (2) XTHSTH
(3) = (4) TPR™

Answer — 3




78. gamierdl 3 Mar W Hesl fhar o
RRC ‘YU SI' PIIPI 08.12.2013

(1)1470%. § (2) 1510 . ®
(3)1570%. ® (4)1610%S. ®

Answer — 3

79. 1757 3. ¥ foRSegten =1 foe g
97 RRC'YY S’ BIASIII 08.12.2013

(1) ‘BfT1 A (2) e 3
(3) FeIT3d A (4) BraTerd A
Answer — 3

80. e 7 s HHd # ga=<
ST fegent Wfd o s=amn g91?
RRC ‘YU SI' PIcTdIdl 08.12.2013

) 3T YT Fell|H & 9 & foly
) 379 faora & forg
)
)




Answer — 3
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